oh=E A= 7A 22

2017.2.10 (&) 10am, OlE=R

1. 2LH CHH, 27Q1X| 35LCH, 8,200,000 > Zoom> 2.22 HYE

2. MZFAICH HMZA, 2F 302t x 35CH = 11,000,000 (SFCH =24
A (650 x ABIC X

A HESh > 2.22 HiE
(650 x 270 mm) £& HE > = A > 2.13

sie o

oE

3. G4 Otg> 2.20 Of> USBT Y > S
HIL|OA BYE > 27 dE > ZO2

4. HAIE HX 273
217(2)-2.19(Y) =
2.20(¥) HjLA ™A

o
221(3h MEZ7|, e ==

oH
IE
nx
>t
B
ro
|m

o
n

24 B0 > FAIY 59 (LaB) > Of2HIOIE =20] 321 X 72/
Z

47], AE8Y A B2E > HEAXYH (LaB2lZ])

5wz SesiElAE HEHY &Y > HEUX YN (&Bol2)
223(8) HII%Y (23 o%), XY

ol HMASHHBE EAH1+29L FH1, YTOBE 1, WY FAR, Al

M QLAY > o] 23 HE L A

2.24(8) 2UH HXAE, 2|23 o
2.27(E)-28(3h 36 U=7t L=2/84
3.2(=h 11:00 7|AZHES] (HAIE
3.3(F) 1800 2IZY 24N

b, 82 3 J|xt3lA

“QIHfL: ZAE IHY > Of2F > 2.15

-Preview: ZAH O+ FA|AI|Z > ZAZ > 2.13-14 Ol23> > 2.16 Of2F H|E

SHEXE: 488 > Ot2R0|=2+BHME> 2.20

FQU&: HLA™te| CHEH, MUiX|, SM, 36 =7t F=7HH, IU=A HY S
-U=ATHH (&2, 7tRl, Atgel, AfdE) E AM> A2
YU O[Fo| o= ZH 7|1 FT > ot2RA YO

-2HREH0[Z@4.8 421) 85 ¥ Y&> 023 > 3.24(1%}, 4.7(2%h

SlelsE oY ot 2o > HYE

(9]
oK

s

6. RO EAH > 2.16 L&
XLCHE 4,0005 (3,00082 ZZHEZ|AE DM + 1,0008 Ol23 DM)
EAH 5008 (S{2[2E DM)



RIA| >

2

ot
2.14(3hH-15(=) =8 =+202 DM E|AE =T =4 > 40005 Ot2XF DM

2.13(8) 37t DM AX|(ZAH 3,000%+XCHE 500F) 300

Kio
or
80

_—

"l

or
oF
Ho

7

7. FFEHR Q14 > 2.13 > 1505 T > 1305 MESA|CY, 2058 of230|=

70
H|

ARKOZ 9| > HO|A

H =
H o

=13
=]

ZH| (250~3002H

ol

12. A

SEEXEE AR 3 Cut> 2.27-28(?)

omY, B}ecEo]

33))

=
[=)

| (

t23 A7 =7t 92> X0

2%

=
=

20

for

KI

o
[

oIr

A

St=

A
+2

2| iAot ROl Mo SAlo)

1A oY > TEXT > 2.11(E)

HAIE 2

At ZALDH CIRE

15. =¥

16. HM K[> 5.30

10
oo
X0

~Nd

ol



